1 (v)Maths

CLASS: V

SUBJECT: MATHEMATICS

Multiple Choice Questions (MCQs)

(for 3" Term)

Chapter — 11

State the order of rotational symmetry from question 1to 7
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Which letter does not have a line of symmetry ?

() E

Which of the following shows reflection symmetry?
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Which of the following does not have a reflection symmetry?
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Question 11)

Question 12)

Question 13)

Question 14)

Question 15)

Question 16)

Question 17)

Question 18)

Question 19)

Question 20)

Question 21)

Question 22)

Question 23)
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Which of the following does not have an order 4 of rotational symmetry?

(@) F (b) I. (c)
'

Which of the following is not symmetrical?

(@) “I‘ (b)

Choose the correct net for cone?

(@) 2 (b)

Which is the correct net for cylinder?
(@) (b)
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Which is the correct net for pyramid?

@) @ (b)

Which is the correct net for a cube?

(b)

© |

@ | |
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O

A door is a solid. What solid shape is it?
(a) cube (b) cone
The solid that can be formed from the given net is

(c) cuboid

(a) cuboid (b) triangular prism (c) square pyramid

Which of the following is the line of symmetry of the given figure?
A

C<«¢ \ » D
\
\

B

(a) AB (b) CD (c) none of these

Which solid figure has all its faces as triangles?
(a) cone (b) triangular pyramid
Which of the following does not show rotational symmetry?

@ C ) N

Which of the following set of figures show rotation?
@ @C (b) (c) D

Which of the following letter does not have a rotational symmetry?
(@ A (b) H (©) X

(c) none of these

) H
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Question 25)
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How many lines of symmetry are there in the following figure?

(@0 (b) 1 (c) 2
State the order of rotational symmetry in the following figure.
(a2 (b) 3 (c)4
Chapter — 12

=2l+2b
(a) Perimeter of square (b) Perimeter of rectangle (c) Area of rectangle
The area of a square is 64cm?. Find its perimeter.
(a) 8cm (b) 24cm (c) 32cm
Find the perimeter of a square book of side 20cm.
(a) 80cm (b) 100cm (c) 40cm
Find the perimeter of a carpet whose length is 3m and breadth is 1.8m
(a) 4.6m (b) 9.6m (c) 4.5m
The perimeter of a rectangle is 54cm and its length is 12cm. Find its breadth.
(a) 15cm (b) 5cm (c) 10cm
What is the length of the side of a square park whose perimeter is 64m?2.
(a) 4m (b) 8m (c) 16m
Area of a rectangle = ?
@ 1xb (b)I+b (c)4xI
Length of rectangle = AT%
(a) length (b) breadth (c) perimeter
Area of an envelope is measured as
(a) 200cm? (b) 200mm? (c) 200m?
Find the area of a square whose side is 1.2cm
(a) 1.44cm? (b) 14.4m? (c) 0.44cm?
The area of a square is 36sqcm. Find the perimeter of the square.
(a) 36cm (b) 24cm (c) 12cm
The perimeter of a square is 36¢cm. Its one side is
(&) 9cm (b) 12cm (c)18cm
The perimeter of a square is 8cm. Its area is cm?.
(a) 6cm? (b) 4cm? (c) 7cm?
How many stamps each measuring 2cmx1.5cm can be pasted on a sheet of paper 12cmx6m
(a) 280 (b) 180 (c) 140
Unit of perimeter can be
(a) m? (b) cm? (c) m
Unit of Area can be
(@ m (b) m? (c) cm
Length of rectangle = ? whose A = 352sqcm b = 22cm
(a) 8cm (b) 16cm (c) none of these

A piece of string 28cm long is bent to form a square, the area of square is
(a) 49cm? (b) 14cm? (c) 49cm

A wire is bent into the shape of an equilateral triangle of side 12cm. Then, it is stretched open and

bent into a square the area of square is

(a) 81cm? (b) 81cm (c) 27cm?

1 hectare = sgm

(a) 1000 (b) 10000 (c) 100000

Area of country is measured in

(a) m? (b) km (c) km?

A piece of wooden plank measures 1.5m by 1m. If it is cut into 5cm square piece, how many squares
will be cut?

(a) 6000 (b) 60 (c) 600

A rectangular field measures 400m by 100m and a square field 200m by 200m
(a) both have equal area (b) rectangular field area is greater
Area of 1 face of a cube with side 6cm
(a) 36m? (b) 36cm?

= side x side
(a) Area of square
Side of a square =

(c) 3.6cm?

(b) Area of rectangle

(@Px4 (b)p+4 (c) P xI
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25% =

(a(t)) 25 (b) 0.25 (c) 25

%ZCEQ (b) 9 (c) 0.09

(a) 15% (b) 0.15% (c) 150%

(c) square field area is greater

(c) Perimeter of square
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50% of 200 =

(a) 100 (b) 50 (c) 10
0.06% of 800 =

(a) 0.48 (b) 48 (c) 4.8
5% of Rs.5 =

(@ 25P (b) 25 P (c)0.25P
In word CLASS, what is the percentage of the letter S =

(a) 4% (b) 40% (c) 20%

20% of 1 hour 30 minutes is

(8) 26 minutes (b) 30 minutes (c) 18 minutes
Reena spelt 22 out of 50 words correctly. What percentage of words did Reena spelt correctly?
(a) 44% (b) 40% (c) 50%

23

100

(@) 2.3% (b) 0.23% (c) 23%
Anil said that % of his friends wear glasses. What percent of his friends wear glasses?

(a) 25% (b) 30% (c) 75%
In the word NAINITAL, What percent of the letters are A =
(@) 15% (b) 25% (c) 20%

There are 600 students in a school. 60% are boys. How many girl students are there in the school?
(a) 240 (b) 360 (c) 100

In a school, 120 students appeared for the class X board examination. If 90% of the students passed
with first division, how many students passed with first division?
(a) 100 (b) 108

Which is greater (i) 0.37 or (i) 37 > %

(@) () (b) (ii)

Which of the following is equivalent to 2.02?

(c) 105

(c) both are equal

(a) 202% (b) 20.2% (c) 0.02%
Which of the following is equivalent to 8%?

(a) 0.8 (b) 0.08 (c) 0.008
What percent of 20 is 16?

(a) 80% (b) 20% (c) 30%
What percent of a rupee is 40 paise?

(a) 40% (b) 60% (c) 50%
What percent of 6 litres is 20 ML?

(a) 0.2% (b)=% (©); %
69 _

o =

(@21 (b) 0.21 (c) 0.021

Which is more (i) 12% of 400 or (ii) 18% of 200?
@) (i) (b) (ii) (c) both are equal
In the set of numbers 1, 2, 3, 4, 5, 6, 7, 9, 11, 12 percent of even numbers is

(a) 40% (b) 20% (c) 11%

What percent of 8 is 2?

(a) 40% (b) 20% (c) 25%

What percentage of Rs.140 is Rs.7?

(a) 20% (b) 5% (c) 0.5%
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The amount of space a solid occupies is called

(a) area (b) length (c) volume

The volume of a 1cm cube is

(a) 3cm? (b) 1cm3 (c) 11cm?

Find the length of a cuboid whose volume is 120cm?® breadth is 6cm and height is 5cm

(a) 4cm (b) 2cm (c) 6cm

Find the length of one edge of a cube whose volume is 27cm?.

(a) 6cm (b) 3cm (c) 9cm

A rectangular tank measures 2m by 3m by 4m and is full of water. What is its capacity in litres?

(@24L (b) 1200 L (c) 24000 L

725 mL = cubic centimeters

(@) 7.25 (b) 725 (c) 72500

4L = cubic centimeters

(a) 4000 (b) 400 (c) 4

Find the length of a cuboid of breadth 2cm, height 7cm and volume 84cm?.

(a) 3cm (b) 6cm (c) 4cm

How many cubes of edge 6¢cm will fill up a box 15cm long, 18cm wide and 24cm high?

(@) 15 (b) 60 (c) 30

A fish tank 45cm by 10cm by 20cm is full of water. How many litres of water is there in the fish tank?

@9L (b) 90 L (c) 900 L

Find the volume of a cuboid which is 9cm x 4cm x 5¢cm.

(a) 18cm? (b) 180cm? (c) 1.8cm?

7000cm® = L

(@7 (b) 70 (c) 0.7

450cm® = mL

(@) 4.5 (b) 45 (c) 450
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Find the volume of a rectangular tank of base are 50cm? and height 9cm.

(a) 540cm? (b) 54cm? (c) 540cm?
Find the volume of the with edge 6cm.
(a) 216cm3 (b) 216cm? (c) 36cm?

Find the volume of the cube with edge 1.2cm
(a) 1.728cm3 (b) 17.28cm3
Find the volume of the cube with edge 70m.
(a) 34300m? (b) 343000m3 (c) 343m?
A box has a base of area 136¢cm?, Its height is 2.5cm. What is the volume of the box?
(a) 340cm? (b) 345cm?3 (c) 340cm?
Find the volume of the tank with height = 4m, length = 5m, breadth = 6m

(c) 10728cm?

(a) 12cm? (b) 120m3 (c) 1200m3

The volume of a cuboid is 100cm? and the area of its base is 20cm?. What is the height of cuboid?
(a) 5cm (b) 5cm? (c) 5cm?

Find the volume of the cuboid whose height = 0.16m, length = 0.25m, width = 0.2m

(a) 8m? (b) 0.008m3 (c) 8m?

A container in the shape of a cube has sides one metre long. Calculate its capacity in cubic centimeter
(a) 1000000cm?® (b) 100000cm?® (c) 10000cm?®

25080cm? =

(a) 20L 85mL (b) 25L 80mL
The volume of a rectangular box (cuboid) =

(c) 20L 80mL

Ixh

(@ 1xbxh (b) 1 x b () =2
Unit of volume =
(a) m® (b) cm? (c) m?
Chapter —15
W=
(a) 4 (b) 5 (c)6
Use the bar graph given below to answer the questions from 2 to 4
A
T 20 +
9 16+
)
012+
5
§ 87T
o]
E 41
p4 0 o
Rainy  Sunny Clear Winady g
Weather —»
How many sunny days were there in December in the city?
(a) 12 days (b) 4 days (c) 6 days
How many windy days are there?
(a) 4 days (b) 12 days (c) 6 days
How many more clear days than rainy days were there?
(a) 6 days (b) 4 days (c) 12 days
Study the following bar graph and answer the questions from 5to 8
A
T 70 +
« 60
3
S50 T
[42]
5 40
g
c 30 +
Z
20 +
10 +
0 MATHS SCIENCE DRAMA DEBATING MUSIC >
cLuUB CLUB CLUB CLUB CLUB
CLUBS —»

Which club is the most popular amoung the students?

(a) Science (b) Drama club

Which club has the least number of members and how many?
(a) Maths club, 30 (b) Drama club 50 (c) Music club 60
How many students are members of the Drama and Music club put together?

(a) 110 students (b) 100 students (c) 90 students

(c) Music club
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Question 9)

Question 10)
Question 11)
Question 12)

Question 13)

Question 14)
Question 15)
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Question 19)
Question 20)

Question 21)

Question 22)
Question 23)
Question 24)

Question 25)
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Which two clubs have the same number of members?
(a) Maths & Science (b) Science & Drama club
Study the pie-chart and answer the questions from 9 to 13

Who won the election?

(a) Anuj (b) Vineet (c) Pooja
Who got the least number of votes?

(a) Anuj (b) Pooja (c) Leena
What percent of students voted for Sunny?

(@) 15% (b) 40% (c) 38%
What percent of students voted for either Anuj or Pooja?

(a) 38% (b) 40% (c) 50

Which two candidate had about half the votes?

(a) Anuj and Vineet (b) Sunny and Rohit

Read the following line graph and answer the question from 14 to 18.
A

50

O 48

g “ ./ AN
42

o] %

v

1 2 3 4 5 6

Number of Days —»
On which day was the lowest temperature recorded?

(a) Day 1 (b) Day 2 (c) Day 3
What was the highest temperature recorded?

(a) 48°C (b) 45°C (c) 50°C
What was the temperature recorded on day 47?

(a) 48°C (b) 45°C (c) 7°C
Was the temperature lower or higher on day 4 than day 2?

(a) Lower (b) higher (c) equal
What is the fall in temperature from day 2 to days 3?

(@) 7°C (b) 9°C (c) 11°C

Study the following pie-chart and answer the questions from — 19 to 24.

What percentage of the students like football the best?

(a) 35% (b) 25% (c) 40%
How many students prefer swimming

(a) 120 (b) 50 (c) 100
What fraction of the students like football or basket ball the most?

3 9 7
@ (b) 7 ©) o5
How many students do not have volleyball as their favourite sport?

(a) 400 (b) 340 (c) 40
How many students like tennis the most?

(a) 140 (b) 40 (c) 30
How many students were asked about their favorite sport?

(a) 600 (b) 100 (c) 400

Data representation with the help of pictures is called
(a) Bar graph (b) line graph

(c) Music & Drama club

(c) Anuj and Pooja

(c) pictograph
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Find the pattern and write the next.

Question 1)
Question 2)
Question 3)
Question 4)
Question 5)

Question 6)

Question 7)

Question 8)

Question 9)

Question 10)
Question 11)
Question 12)
Question 13)
Question 14)
Question 15)
Question 16)
Question 17)
Question 18)
Question 19)

Question 20)

Question 21)

Question 22)

Question 23)
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5, 10, 15, 20,
(a) 30 (b) 25
8, 16, 24, 32,
(a) 40 (b) 45
1, 3,7, 15,
(a) 31 (b) 63
Al, B2, C3, D4,
(@) G5 (b) E5
26, 23, 20, 17,
(a) 14 (b) 11
1, 3,9, 27, 81,
(a) 243 (b) 363
OO ol o oo o ,OOO OOO OOO ,
(8 3o 0o () 0“0 0o o
KX X XXX
XX XX X
X X X X X X 5
XX '’ X X X X 'BWB— —
XX XXXX
(@ xxx (b)

@/\/

1, 4,9, 16,

(a) 36 (b) 25
1,8,4,11,7,

(a) 14 (b) 3

1, 8, 27, 64,

(@) 25 (b) 125
Which of the following is a triangular number?

(@) 6 (b) 25
1+2+3isa (sum)

(a) triangular number (b) square number
1+3+5isa (sum)

(a) triangular number (b) square number
16, 25, 36, 49,

(a) 81 (b) 64

1, 3, 6, 10,

(a) 26 (b) 25
Which of the following is a square number?

(@) 15 (b) 16
Which of the following is not a triangular number?
(@) 6 (b) 15
Which of the following is not a square number?
(a) 72 (b) 81

AO:ANOO: ANA. OO0

@ AANAOO 0 AAANOOOO
=
1 2 3

(@) (b)

TR SRR 0 0 SN
@ L L L

CYAVAYS

oL L L L

(c) 35
(c) 46
(c) 84
(c) F5
(c) 13

(c) 741

(c) none of these

()

XXX
XXX

© /N\/\

(c) 49

(€)5

(c) 325

(c) 4

(c) none of these
(c) none of these
(c) 100

(c) 15

(c) 18

(€)5

(c) 64

© AO

()

(c) both
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Quesion24) N | N(J\{ NN .
(@) (b) (€)
@ NN\ & NNNN @ NNNN

Question 25)  1x1=1, 2x2=4, 3x3=9, .
(a) 3x4=12 (b) 4x4=20 (c) 4x4=16

Chapter —21

Question 1) A triangle ABC where AB=BC=CA will be

@ ii ® © R

1]

I
Use the figure and answer the questions from 2 to 6.
Question 2) The centre of the figure is

B c

(@ A (b) E (c)D
Question 3) AB is parallel to CD

(a) True (b) False
Question 4) Z Aisequalto ZC

(a) True (b) False
Question 5) AC =BD

(a) True (b) False
Question 6) AD =BC

(a) True (b) False
Question 7) E is the midpoint of AC and BD both.

(a) True (b) False

Question 8) A quadrilateral AB=CD=4cm, AD=CB=2cm is

Question 9) A figure drawn by compasses is .
(a) pentagon (b) circle (c) hexagon
Question 10)  In the figure £ ACB =

v

&
<

A @ B
(a) 45° (b) 90° (c) 180°
Question 11) A triangle can be divided into two equal parts by
(a) line (b) circle (c) angle bisector
Question 12)  To draw an angle of 45° by ruler and composes first we have to draw an angle of
(a) 30° (b) 90° (c) 15°
Question 13)  The figure shoes the method to draw an angle of
A
B c”
(a) 30° (b) 120° (c) 60°

Question 14)  In the figure £ AOB= ZBOC="?

(a) 45° (b) 30° (c) 90°

o
(@]
v
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Question 16)

Question 17)

Question 18)
Question 19)
Question 20)
Question 21)
Question 22)
Question 23)
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Question 25)

Question 26)
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Question 2)
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In the figure, £ ABC =?
(a) 90° (b) 6Q° (c) 120°
B | c>
A A
N
In the given figure £ AOB =?
(a) 60° (b) 90° (c) 20° ?

(w)

N s
)

In the given figure, £ AOB+ £ BOC="7?
(a) 90° (b) 45° (c) 30°

v

0 |
Which of the following figure can not be drawn by compasses?
(a) circle (b) line (c) arc
A is a polygon with nine angles and nine sides.
(a) hexagon (b) nonagon (c) octagon
A pentagon has sides.
(a) 4 (b) 5 (c)6
A hexagon has angles.
(@) 4 (b) 5 (c)6
A decagon has sides.
(@9 (b) 10 (c) 8
An octagon has angles
(@) 8 (b) 7 (c)6
A quadrilateral has sides.
(@3 (b) 4 ()5

Which of the following figure is drawn using a ruler?

(b) /_\

Which of the following is a closed figure?

@ ®) W

(@) ()
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1 book costs Rs.8. How much will 3 books cost?
(a) Rs.18 (b) Rs.20 (c) Rs.24
If 6 books cost Rs.54, find the cost of one book.
(a) Rs.30 (b) Rs.9 (c) Rs.6
If 14 men construct a wall in 6 days, in how many days will 1 man be able to construct the wall?
(a) 40 days (b) 24 days (c) 12 days
7 goats cast Rs.630. Find the cost of 1 goat.
(a) Rs.90 (b) Rs.9 (c) Rs.900
5 chairs cost Rs.750. Find the cost of 1 chair.
(a) Rs.150 (b) Rs.15 (c) Rs.90
5 men complete a work in 10 days. In how many days will 1 man complete the same job?
(a) 25 days (b) 50 days (c) 5 days
4 taps fill a tank in 8 hours. In how much time will one tap fill the tank?
(a) 2hrs (b) 24hrs (c) 16hrs
If 4 candles cast Rs.5, find the cost of 12 candle.
(8) Rs.15 (b) Rs.5 (c) Rs.15
A cyclist goes 90km in 6 hours. How far does he go in 9 hours?
(a) 130km (b) 15km (c) 135km
If 3 litres petrol costs Rs.210, What is the cost of 8 litres?
(a) Rs.560 (b) Rs.220 (c) Rs.1300
5 shaving blades cost Rs.6.25. Find the cost of 12 blades.
(a) Rs.15.00 (b) Rs.1.5 (c) Rs.1.25
If a dozen oranges cost Rs.24.60, What would be the cost of 5 oranges?
(a) Rs.10.25 (b) Rs.20.25 (c) Rs.121.50

v
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Question 14)
Question 15)
Question 16)
Question 17)
Question 18)
Question 19)
Question 20)
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Question 22)
Question 23)
Question 24)

Question 25)
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The cost of 18 meters of cloth is Rs.149.40. Find the cost of 15 metres?
(a) Rs.120.50 (b) Rs.12.40 (c) Rs.124.50
If a man earns Rs.390 in 6 weeks, how much will he earn in 10 weeks?

(a) Rs.550 (b) Rs.750 (c) Rs.650

If 20 ice-cream cones cost Rs.68.80, find the cost of 7 ice-cream cones.

(a) Rs.24.08 (b) Rs.24.80 (c) Rs.28.40
Nikita can paint 9 signs in 3 hours. How many signs can she pain in 1 hour?
(a) 3 signs (b) 30 signs (c) 1 sign

A cyclists goes 90km in 6 hours. How far does he go in 9 hours?

(a) 54km (b) 135km (c) 75km

If 3 masons construct a wall in 10 days, in how many days will 5 masons construct that wall?
(a) 30 days (b) 3 days (c) 6 days
One man does a piece of work in 32 days. In how many days will 8 men do it?
(a) 8 days (b) 4 days (c) 16 days
1 dozen eggs costs for Rs.48. What will the cost of 10 eggs?

() Rs.20 (b) Rs.40 (c) Rs.35

If 70 cows can graze on afield in 12 days, how many days will 60 cows take to graze on the same
field?

(a) 14 days (b) 24 days (c) 20 days
If a dozen bananas cost Rs.15, how much will 1 banana cost?

(8) Rs.1.25 (b) Rs.12.5 (c) Rs.125
If 5 litres milk costs Rs.200, what is the cost of 3 litres of milk?

(a) Rs.120 (b) Rs.240 (c) Rs.200
5 scores of bananas Rs.20, find the cost of 35 bananas?

(8) Rs.75 (b) Rs.31 (c) Rs.75

A car uses 20 litres of petrol for 100km. How for will it run for 5 litres ?
(a) 25km (b) 20km (c) 15km
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